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1. BREREZ

Def 1.

f:U»V; fO)ICDULNT

y = f(x) € VZ&x € UDER,
x € UZy e VDIFZKREWS,

@




1. BRERE

Bl =8P DES (CHLE :
fUPV;f)ICDWNWT BIDESACU, B C
D, VDEZRDDL, ADEZRDfICKIDEIC

WD EDZEDHT. BERfFICKDESADEREL
B=f(A)EEL,

@




1. BRERER

WNFENICEERELLD,
Azt ZzHND &
Def 2.

BKRf-U-V;f(x), ASU,BcVIC
DL\

ZADBREWD,




1. BRERER

HNFNICERLLD,
BRI ZRAND &
Def 2.
S&f:U-V;f(x), ACU,BcVIC
PIAYE

B = f(A) = {y|3x € A[f(x) = y]}
ZADBREND,




1. BRERER

HFENICERLID,
550 EDOANBREEINZALD &
Def 2.

BKkf:U-V;f(x), ASU,BcVIC
DL\TC

ZADBREWLD,




1. BRERER

HFNICERLKLD,
ESOEDORNEERZERAND &
Def 2.
BRf:U-V;f(x), ASU,BcVIC
DU\

B =f(A) ={f(x)|x € A}
ZADFRE WD,




Hlled 1 .

BRf:U - V; f(x) D f DB = 5k
2RV TCRE




Hlled 1 .

B U » V; f(x) Df DAz 5
== 1A W@ Ny AN

==
=

ran(f) = f(U)




s 2 .

BARf:U - V; f(x) [CDWTFIFU
MBVANDOEEI THhHhDESTDINE
DERAF(E

F(U) =22727




g 2 .

BRf:U - V; f(x) [CDWTFIFU
MBVANDOEEI THhHhDESTDINE
DERAF(E

Aot~
FZ

fw)=v




{578 3
U=1{12345},f:Uw» U;f(x) CDLN
f()=2,f2)=2(@3) =5,
f(4)=5f(5)=1 &3,
CDEE,
(1) fOfEEZERED K
(2) {1,2,3 YD [(1,2,3) 12K ED K

(3) {1,3,5 YDRf[(1,3,5)ZF KD K.




{58 3
U=1{1,2345},f:Uw»U;f(x)CDL)
f()=2,f(2)=2f@3) =5
f(4)=5/F5)=1&93,
CDEF,
(1) foiEEZERkSHK,  {1,2,5}
(2) {1,2,3 YD1 (1,2,3)ZE3KED K,

(3) {1,3,5 YOO8 (1,3,5) Z KD Ko




{58 3
U=1{12345},f:Uw» U;f(x) CDLN
f()=2,f(2)=2,f(3) =5,
f(4)=5,f5)=1&9 35,
CDEE,
1)  fOlEEVZERSOK,  {1,2,5}
(2) {1,2,3 YD f[(1,2,3) 23K K.
12,5}
(3) {1,3,5 YDRf[(1,3,5) 2K K.




{5l 3
U=1{12345},f:Uw» U;f(x) CDLN
f(=2,f2)=2(@3) =5,
f(4)=5f05B)=1&T 3.
CDETE,
(1) foEEHZRSOK,  {1,2,5}
(2) {1,2,3 YD f[(1,2,3) 23K K.
2,5}

(3) {1,3,5 YOS [(1,3,5) ]2 KED K
{1,2,5}




2. WK

BRf:U - V; f(x) [CDUWNT

UDEZRDDOEFICKBDIENBICETD
REZEDHTCTCTESDIESZ, BEEfICKD
BOWRELWY, F (B EEL,

@




2. PR

Def 3

E{%f; U V;f(x) CDULT,
T DESF (B EBES(CLS
BDiFER & K5,

f71(B) = {x|f(x) € B} .




g 1

U=1{1,2345},f:Uw U; f(x) [CDL
f()=2,f2)=2f3)=5f() =
5, f(S) =1
EID,

_DOEE,

(1) {1}OFERfF - zERkO K,

2) {2,501 BRSf ~L[{2,57F KD K,



s 1

U=1{1,2345},f:Uw U; f(x) [CDL
f()=2,f2)=2f3)=5f() =
5, f(S) =1
EID,

_DOEE,

(1) {1}OFERfnZERSO K, {5}

2) {2,501 BRSf ~L[{2,57F KD K,



s 1

U=1{1,2345},f:Uw U; f(x) [CDL
f()=2,f2)=2f3)=5f() =
5, f(S) =1
EID,

_DOEE,

(1) {1}OFERfnZERSO K, {5}

2)  {2,5}DFEBRf 2 5Z2KD K, {1,2,3,4}



2.

BIRf:U - V; f(x)ICDWLWT, ACU%
EZRDo
AC fYf(A)] &iEBE K.




A2,

BIRf:U - V; f(X)ICDWT, ACURERD,
A C ff(A)] ZiEBRE Ko
[5EBA] EE(CREN : ASB © Vx[x € A > x € B]

S ZRNEDIIATI(EvZ &> TR (D
B) x e ALIRELTAAZEL,

x EAEIRETDE, f(x)€Ef(A). COESHE
BDEERKIDf (D] ={xIf (x) € f(4)}

KD xefHf(A)]. WEDTAcC [ Lf(A)]
O




&3,

BRf:U e V; f(x)ICDWT, BSVEEX
fIf~Y(B)] € B&:AE K.




&3,

BIRf:U - V; f(x)ICDWT, BSVEERD
fIf~Y(B)] € BZiEAE &K,
[ZIEBA] EEICRN : ASCB o Vx[x €A > x €

ISR T(EveE & DREZEE (&
DiE) x e ALIRELU TEBZEL,

y € f[f1(B)]EARETDE, x€ f1(B)

M Df(x) = yEmicIxhMFIET D. CDEF,
€ f"Y(B)IXDTf(x) EB. €D T, yEB.

[/ (B)] B =




3. BEROERK

Def 4.

UV f(x) & g Ve W, gL,
h:U - W;h(x) =g(f(x))

ZEREBRh=gof &EFT,




{8 1
U=1{ab,c},V={012},W={p,qg}&9
Do
_DHEE,
fUpV;f(a)=1,f(b) =2,f(c) =0

g Ve W;g0)=pg)=pg2)=q
Thd, aikEBRh = go fDFZKEDK




fHled 1
U={ab,c}V={012},W={pq} &
CDEE,
f:UeVifla)=1f(0b)=2f()=0

g Ve W;g(0)=pg(1)=pg2)=q
THdD. BB h=gof DF=EKD

EE:(geN@=9(f(@)=9g1)=p




=8 1
U={ab,c},V={012},W={p,q} &9
CDHEE,
fiUmVif(a)=1,f(b)=2,f(c)=0
g:VeW;g(0)=pg()=pg2)=q
Thd, BEBR h=gof DFZKEK

EE:(geN@=9(f(@)=9g1)=p
(go D) =g(fb))=g)=q




s 1

U={ab,c},V={012},W={p,q} &9

_DOEE,

frU»V;f(a)=1,f(b)=2,f(c) =0

g Ve W;g(0)=pg(1)=pg2)=q

Thd, BEBR h=gof DFZKEK

EE:(geN@=9(f(@)=9g1)=p
(go D) =g(fb))=g)=q
(9°))=g(f©) =90 =p




a2

NN, x-x+1,
g:Np R; x » 2x — 3,

DEE, alkEHRyg o f2RDHK,




{5282
NN, x-x+1,
g:Nb R, x » 2x — 3,
DEE, BkEBg o faKD Ko

— /i
J_—A

o N = g(f@) = gx + 1)
—2(x+1)-3=2x—1

DT
gofiNH»R x—»2x—1 .




83

[ RR, x->x+1,
g: N R; x » 2x — 3,

DESE, BREERS o gZ2KD K,




83

[fRHR;, x—x+1,
g: N R, x » 2x — 3,
DESE, AlEERS o gZ2KD K,

— /i
J_—/_\

(Fog)® = fg®) = f(2x - 3)
= (2x—3)+1=2x—2

NI NE
feg: N»R, x—»2x—2 .
goefiNbR; x 2x —1&E(EFER




Bl eE3 DA

NN, x-x+1,
g: N N; x > 2x — 3,

DEE, GREERS o gZ2RH K,




{llRE3 DFHRE

NN, x—>x+1,
g:Ne- N; x = 2x — 3,
DEE, BEBRS o gZ=KED K,

1Ir&

JIFBETFR VD TR L
x =0D&EE, glx) = —27TNT/RUY,




e84

X,
W -
g:VeW,h:

V,

>

f:u

% EIEBH
Jof =ho(gef)
(heg

-

o,




{51784
UV, g VeWhWsX,

DEE, (hog)of =ho(go f)%Z:LEA-

[EIEAH]

EIREBVx € UNEBNTWDIEFEES(C

DFERR. vZ& &> TRE@BEHNE LU TIRD,

xeUEI B,

((hog) o f)x) = (hog)(F()) = h(g(flx
(g NE)=(ho(geoNE) M




4. 5L

Def 5
UV HWEERDESE,
fTLve Uz  fOEBHREMES,




s 1

U=1{ab,c},V=1{01,2}
f:U»V;a»2,b-0,c-1D&
=, FEFHFZEKRD LK,




I8 1
U=1{ab,c},V=1{01,2}

frU»V;aw» 2
i , b= 0
S WEGERDL, e

[

D%\"]

f—l:V .
> U;0>b,1-c 2P a




el 2

fiR—> RY; f(x) =exp(x) =y
D BERZ KD K,




el 2

fiR—> RY; f(x) =exp(x) =y
D BERZ KD K,
B

fTHRT - R; f7H(x) = In(y)




83

BEEE&Ridu: U - U;idu(x) =
x OWFEE&idu~1Z23KksD I,




83

BEEE&Ridu: U - U;idu(x) =
x OWFEE&idu~1Z23KksD I,
[[E1E]

idu=1(x) = idu(x) = x




e84

fiU-»V NEEHDOLT,
flo fIIEDKDIREHF N ?




e84

fiU-»V NEEHDOLT,
flo fIIEDKDIREHF N ?

[BIE]

f7h e f = idu(x)
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[o]ed 1
frU»V, A, A, SUDETE,
UM Z5EBAE K.

A € Ay = f(Ay) € f(4y).




[o]eE 2
f:U»V, B,B,CVDET,
UM Z5EBAE K.

B, € B, = f1(B1) € f~1(By).




[o] 83
ffU»VEGVH>WETD.
LA =5 E K.

(1) fEGNEERRBIEg o FEERTHD.
2) fEGNERRSEg o fEEREITHD.




e 24

U=1{a},V={ab}
fU»VE&EG:VeUZf(a) =a g(a) =
a,g(b) = a &3_50
CDESE, gof&fogldENZENIE
EE/RERDIM?
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